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This question was attempted by most candidates, with varying success. Many
candidates were obviously running out of time and only produced minimal attempts,
hence the low average mark. Most candidates could calculate the bearing capacity of
the foundation and estimate elastic settlements, but differences between undrained
and drained analysis, use of parabolic stress-strain curves etc were in general not well
answered in the time available.
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@2 exornnrs CoOMMAer:

This question was attempted by few candidates, with varying success. Many
candidates were obviously running out of time and only produced minimal attempts,
hence the low average mark. Part a of the question was in general well-answered,
though the rider of allowing for p’ increasing beyond working load was in general
ignored. In part b, the equation of the hyperbolic stress-strain curve was handled well
but the equivalent linear value was not. Part ¢ was in general well answered by those
who attempted it, whereas part d was almost entirely unanswered by many candidates,
probably due to lack of time.
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Q3 eominers conaneny:

This was a very popular question, being answered by all candidates. Parts a and bi
were well answered by the majority of candidates but the descriptive part bii proved

problematic.
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This was a very_popular question, being answered by all candidates. In part a almost
all candidates estimated plastic capacity rather than elastic when avoiding yield. The

remainder of the question was in general answered well.
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